Do you agree or disagree with the following statement? It is more important for governments to spend money to improve Internet access than public transportation.
For decades, allocating budget by governments has been a controversial topic among experts and administrations. It is believed that governments should allot budget to improve internet access while others take the opposite view and think governments should focus on improving internet access. I am of the opinion that the public transportation problem is serious/more significant, and governments focus on it. I think this way for two reasons, which I will explore in the following essay.
The remarkable reason that governments should allocate budget to public transportation is that it will help to reduce air pollution. Nowadays, people are more reliant on their cars because of drawbacks and lack of appropriate public transit. According to some scientists and specialists, it is the main reason for air pollution. Therefore, governments need to decrease air pollution and its consequences. My own experience is a compelling example of this. In my city, unfortunately, there is no sufficient transportation system, such as some old buses and subways, which are always under fixing. Due to that, citizens have to use their cars for commuting, so that sometimes pollution makes breathing arduous. Because of that, the government decided to improve the infrastructure of mass transit by considering more budget.  	Comment by Hamed Aalaee: Good Body Paragraphs with Major and Minor Supporting Ideas
You included the topic sentence, explained it and provided an example!

Secondly, by updating the public transportation government will be able to help people economically. People who have to go to work prefer to use public transportation because their prices are efficient/they are cost-effective. They expect taxes, which they pay, are utilized for enhancing the quality of the transportation systems or the number of them. Otherwise, they will have to use their cars; because of the high prices of gases and machinery wear, tear, and exhaustion, using a personal vehicle is not cost-effective. For example, my uncle is a worker. His city is deficient in public transportation, and all of the public transits are out of date. So he has to go to work by his private car. Half of his salary is allotted to repairing his automobile or gas. The problems of inappropriate public transits and the economic issues that people were faced made the government snap into action, and instead of spending budget for the unnecessary things, it allocated a high proportion of budget to the development of public transportation. You may also discuss why you did not choose the other item! 
In conclusion, it is essential for governments to spend money on improving and increasing public transportation because it will be able to reduce air pollution and greenhouse gas effects, ; also, it can help people economically. 
Words: 402
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Nice! A good start!
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